PARTS LIST

Link mfg. Ltd.
223 15th St. N.E.
Sioux Center, IA USA
51250-2120

(712) 722-4874
Fax (712) 722-4876

QUESTIONS?
CALL CUSTOMER
SERVICE
1-800-222-6283

TSIRIL cabmate
“-‘ Cab Air Suspension

KWE90112-B (2546-A000)

101214
35460010



— e ——=—

CABMATE® MODEL 2546-A000

PARTS LIST
ITEM| PART NO. |DESCRIPTION QTY ITEM | PART NO. |DESCRIPTION QTY

1 1202K064 |SHOCK ABSORBER 2 18 1480-1201 |3/8 UNC TOP LOCK FL NUT (GR F) 6
2 1301-0020 |VALVE-CONTROL, HEIGHT 1 19 1500-0001 [MOUNT PAD 2
3 1302-0090 |AIRLINE-NYLON, .250 O.D., BULK 4.5 ft 20 1500-0070 [BUMPER-JOUNCE, 1.75 2
4 1302-1038 |.25 TUBE SUPPORT 4 21 1500-0248 [LINKAGE-VALVE, HEIGHT CONTROL (4.25) 1
5 1302-1083 |UNION TEE, 1/4 TB 1 22 1500-0302 [CLIP-LATCHING 2
6 1302-4069 |CONNECTOR, 1/4 TB 1/8 M-NPT, DOT 2 23 1500-0360 |RING-RETAINING, EXTERNAL 4
- 1350-0000 |KIT-PROTECTION, PRESSURE 1 24 2500-2100 [LATCH PLATE 1
7 1401-0816 |1/4 X 2 UNC HEX CAP SCR (GR 5) 2 25 2545-0002 [PUSH-OFF PAD 1
8 1403-1418 |7/16 X 2 1/4 UNF HEX CAP SCR (GR 5) 1 26 2546-1000 |UNIT TOP 1
9 1403-1422 (7/16 X 2 3/4 UNF HEX CAP SCR (GR 5) 1 27 2546-2000 |ADJUSTABLE HINGE ARM MOUNT 1
10 1403-1424 (7/16 X 3 UNF HEX CAP SCR (GR 5) 1 28 2546-3000 |UNIT BOTTOM-DRIVER 1
" 1403-1428 (7/16 X 3 1/2 UNF HEX CAP SCR (GR 5) 1 29 2546-4000 |UNIT BOTTOM-PASSENGER 1
12 1435-1012 |5/16 X 1 1/2 UNC RND HD SQ NK BOLT (GRADE 5) 2 30 2990-0032 |4.25 HINGE ARM BOLT 4
13 1435-1208 |3/8 X 1 UNC RND HD SQ NK BOLT (GRADE 5) 6 31 2990-0500 [ARM-VALVE (4.00 STD) 1
14 1476-0800 |1/4 UNC HEX CTR LOCK NUT (GR B) 2 32 2991-0013 |[KWE90112-B AIR SPRING SERVICE KIT 1
15 1476-1000 |[5/16 UNC HEX CTR LOCK NUT (GR B) 2 33 2991-0026 |[KIT-PIVOT BALL 1
16 1476-1201 |3/8 UNC HEX TOP LOCK NUT (GR C) 4 34 2992-2008 [HINGE ARM, TYPE B (6.000) 2
17 1477-1400 |7/16 UNF HEX CTR LOCK NUT (GR B) 4




CABMATE MODEL® 2546-A000

WARNING: FOR SAFTY PURPOSES THE CABMATE MUST BE SUPPLIED FROM A PRESSURE PROTECTED CIRCUIT. IN
THE EVENT OF AN AIR LEAK IN THE CAB SUSPENSION, FAILURE TO PROVIDE A PRESSURE PROTECTED CIRCUIT MAY
CAUSE LOSS OF AIR PRESSURE TO VITAL SYSTEMS ON THE VEHICLE.

WARNING: LOSS OR APPLICATION OF AIR PRESSURE TO CABMATE WILL CAUSE SUDDEN MOVEMENT OF THE CAB.
PRIOR TO INSTALLING OR PERFORMING MAINTENANCE, BLOCK UP THE CABMATE TO PREVENT THE POSSIBILITY OF

INJURY.

HEIGHT ADJUSTMENTS

Measure the design height of the air spring(s).

The height should be 5 7/8 inches + 1/16. To change the height, disconnect one end of the

valve linkage and adjust accordingly. Tighten the lock nuts on the valve linkage. The valve arm has a slot which will allow for coarse adjust-

ment also. (See diagram below.)

FINE ADJUSTMENT
VALVE LINKAGE

SLOT FOR COARSE
ADJUSTMENT

VALVE ARM

AIR SUPPLY TO AIR SPRING

AIR SPRING

DESIGN
HEIGHT
57/8”

MAINTENANCE

CABMATES need no lubrication and little maintenance. The following components should be checked at the time the truck is being serviced.
However, immediate corrective action should be taken if a serious malfunction occurs.

COMPONENT POSSIBLE PROBLEM CORRECTIVE ACTION TORQUE
Airlines Air leaks Replace airline Compression Nut
Hand Tight + 1 Turn
Fittings Air leaks Remove fitting and apply fresh joint Threaded into:
compound. Reinstall fitting, but Do Not Metal Plastic
Overtighten. Do not use teflon tape. 15 Hand Tight
Ft. Lbs. +1 Turn
Air Springs A. Improper height A. Adjust valve linkage to maintain Size Metal Plastic

B. Air leakage

proper air spring height.
B. Replace air spring.

3/8 25Ft. Lbs 04 Ft. Lbs
1/2 28 Ft.Lbs 10 Ft. Lbs
3/4 30Ft. Lbs 10 Ft. Lbs

Height Control Valve Air spring(s) will not inflate when
wheight is added to the cab;

OR
Air spring(s) will not deflate when

wheight is removed from the cab.

A. Inspect valve to insure drive bearing
notch is located on “SUSP” port side of
valve. If not, loosen lever screw (but do
not remove completely) and pull lever
loose from drive bearing, rotate drive
bearing until the bearing notch is in the

1/4 Mount Fasteners
10 Ft. Lbs.

Bearing Screw

correct position and resecure lever by 40-50 InLbs.
tightening lever screw.
B. Replace Valve
Shock Absorber Insufficient dampening effect Replace shocks 45 Ft. Lbs.
Lateral Control Rod A. Loose nuts on lateral control rod A. Tighten securely to clamp the inner 40 Ft. Lbs.

bolts
B. Worn bushings.

sleeve.
B. Replace lateral control rod.

IMPORTANT: Periodically check the tightness of all fasteners.

2-




PAGE INTENTIONALLY LEFT BLANK




<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



